
Question Your Answer Password Clue Found

14 + 2 - 7 =

47 - 10 + 32 =

340 + 240 - 125 =

43 + 97 - 29 =

725 - 75 + 125 =

135 + 325 - 40 =

6 + 7 × 4 + 2 =

10 ÷ 2 + 7 × 3 =

1 × 3 + 6 × 5 =

9 - 2 × 2 + 12 =

8 - 16 ÷ 4 + 17 =

50 + 60 ÷ 6 + 120 =

75 × 2 - 10 × 4 =

81 ÷ 9 + 45 ÷ 5 =

281 - 2 × 7 - 65 =

Passcode:                                                                          

Can you hunt down the passcode?
Use brackets to solve these calculations using what you know about the order of operations.

Order of Operations Scavenger Hunt
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